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Paper / Subject Code: 82303 / Operating Systems.
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N.B.: (1) All questions are compulsory. &
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(3) Answers to the same question must be written together. -~ . - 4
(4) Numbers to the right indicate marks. SR S S
(5) Draw neat labeled diagrams wherever necessary. - . Pl
(6) Use of Non-programmable calculators is allowég AT T o

)

(2) Make suitable assumptions wherever necessary and state the assump tion 'g-rha(\i_\g:."

Attempt any three of the following:

Write a short note on Fifth Generation of Operating System. .
Explain multithreaded and multi-core chip8: P N & (A S
Using suitable diagram explain the structure of disk drive. . -~ -
Write a short note on Process Model. - CEL LY
Explain the dining philosopher’s problem.”

Attempt any three of the folloyy'i;ig:;

Explain the concept of running multiple ptografns.WitHQ,ut_'fnéindry \glbs;raétién. '
How swapping helps to hold: large programs in RAM? Explagn-‘Using'Suitab}e diagram.

Explain Clock page replacenient algotithm using suitable example.
List and explain any five operations performed on Files. - 3
Explain the Unix V 7 File system. Fa o SN
List and explain any five operations performied on Directories. - .

Attempt any three of the following: ARl

What are block devices and character devices? Explain. .

Write a short note on Memory Mapped 10, © = ..

Explain Direct Memory Aceess using suitable diagram. -

Explain preemptable and non-preemptable resources.

List Coffman's four conditions that must hold for a resource to be in deadlock.
Explain the process of Deadlock Detection with One Resource of Each Type.

Attempt any t'h'reél of the following:

- Write a note on Type-1and Type-2 Hypervisor.
“Explain any five advantages.c)fyirtUalizat_ion.'
~Listand explain five essential characteristics of Cloud.

Write anote on Virtual Machine Migration.
What is Master-Slave Multiprocessors Operating System?

List the différe'nt"MulticbtﬁPUtgr Interconnection Technologies. Explain any two.

Attempt any three of the following:

- . Explain the kernel structure of Linux.

List and explain any five file-system related system calls in Linux.
Using suitable diagram explain the architecture of Android Operating System.

‘Explain the programming layers in modern windows operating System.

Explain the booting process of windows OS.

~Write a note on windows power management.
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What is Operating System? Explain the role of operating syster as extended machine:
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Attempt any three of the following: ‘ ' :

What is Operating System? Explain the role bﬁ.operatmg system as extended machme :
Write a short note on Fifth Generation of Operatlng System

Explain multithreaded and multi-core chips. . s

Using suitable diagram explain the structure of dlsk dflve

Write a short note on Process Model. & /-,

Explain the dining philosopher’s problem.' ¥

Attempt any three of the following ' ' »
Explain the concept of running- multlple programs W1thout memory abstractlon.

How swapping helps to hold: large programs in RAM?. Explam Usmg sultable diagram.
Explain Clock page replacement algorlthm using; Suitable exan'mle
List and explain any five-operations performed onF lles

Explain the Unix V 7 File system. : 3

List and explain any ﬁve operatlons performed on Dlrectones

Paper / Subject Code: 82303 / Operating Systems.

: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and

(3) Answers to the same question must be written togethe TG
(4) Numbers to the right indicate marks. S o
(5) Draw neat labeled diagrams wherever ecessan i

(6) Use of Non-programmable calculators is allowegt_l_ AT

%

Attempt any three of the follongq . i .

What are block devices and character devices?. Explam

Write a short note on Memory Mapped | IS A

Explain Ditect Memory Access using suitable dlagram :

Explain preerﬂptable and non- preamptable resources.

List Coffman s four conditions that must hold for a resource to be in deadlock.
Explain the’ pr0cess of Deadlock Detection wtth One Resource of Each Type.

Attempt gng thre of the followmg. :
“Write'a note on Type-1and Type-2 HypemSor
- "Explain any five advantages of virtualization.
List and explain five essential characteristics of Cloud.
~ Write anote on Virtual Machine Migration.
What is Master-Slave MultiproceSSors Operating System?
: Llst the different Multlcnmputer Interconnection Technologies. Explain any two.

Attempt any thre nf the following
+ ‘Explain the kernel structure of Linux.
. List and explain any. five file-system related system calls in Linux.
Usmg suitable dlagram explam the architecture of Android Operating System.
‘Explain the programmmg layers in modern windows operating System.
- Explain the bootiig process of windows OS.
¥ Write a note on’'windows power management.
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(2'2 Hours)

ﬂ B.: (1) All questions are compulsory. P S P G v Oy
(2) Make suitable assumptions wherever necessary agd tate the )t 3

: (3) Answers to the same question must be written goggjl g:

I (4) Numbers to the right indicate marks. o 3

(5 Draw neat labeled dingrams wherever necessary,
(6) Use of Non-programmable calculators is allowed: = ™.

. Attempt gny three of the following: “S“q S g
Convert the following. I e B
(i)  (1051.36)10= (7 B & Y

(ii) (F9A.DS)i6 = (Do 4 < i T
What is Hamming code? A seven blt even pantyhammmg code mrqcéwed:_
What is the correct code? ¢ 5
Certain number system has base 7. What is the hexadeclmal’eqmvalent' of thq mlﬁn*num
and maximum number that is sxpr%se& usmg the base 7: and four blts? X
Solve the following. vk _;v,-;.\_,\ AR & N
(i)  (111000.01) - mm 1 00)2* S E IOV ESE Ao te
(i)  (1010101); + (IJ)2~ R o B r A
L Perform the following, * |
() (727)s + €334)8 oo i g
(i)  (2C48)5= tsm.Alm usmg 1c method AL
£ Solve the followmg“ il o A TS
(i) Comﬁ)eft thq followmg number to BCD ahd add fhem (1 Dio + (9o
(ii) Convert the i’ollowmg number to XS 3 and subtract them (53)10 — (28)10

L

-ah'

‘ '}/f}—g-."
7sh

P

>

2. Aﬁemptw oftl!i‘joilowing: P “;"' a 15

a Reduce the %llﬁmng usmg Boolean laws and theorems

b. ane shprt qotes oni. input%ubblw ANB gate and mput bubbled OR gate.

c. Provejhe fgllgwmg. RS D
S AR S ~ABC £ ABC. +ABE+ AB(, AB + AC + BC
S| S e AB)(C+ D)= AB + €D
o Slmpllfy using Ksmap and | realize it using minimum number of gates.
F(A B,C.D.E) = ¥:m(0,2,57;1 15 18,20,21,23,28,29,31)
2 ﬁgphfy ﬁsh:lg K-map and redlize it using minimum number of gates.
F(AB; CDy= TIME,6, 8.9, 10,12, 13,14) +d(0,2.,5)
—Mnimxﬁeva&pregsfan using Quine Mc Cluskey method.
f(W,X YZFEmQ 6;&9 10, 11,14,15)

5 4' = Attem) ggm{ ﬁgg‘of ¢ following: 15
"i ;‘ 3 H‘lemgtt toa’ combm?;ional logic circuit is a 4-bit binary number. Design the logic
. ‘":_.‘ cg‘cult W;tlimmimum hardware for the following
3 () “<Qutput ¥l = 1 if the input binary number is 5 or less than 5.
> Q(iia "(‘)uiput Y2 = 0 if the input binary number is 9 or more than 9.

Gonvert 4 blt gmy to 4 bit binary. Draw the truth table, necessary k-maps and logic

Ol]‘(“«l.lltw ~ t' .f‘;
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Paper / Subject Code: 82302 / Digital Electronics.

Draw circuit and explain working of XS-3 adder. < A
Design the Full Subtractor using K-map. Draw the circuit dlagtam for thes@le. TS

How Booths algorithm speeds up the muitiplication process‘?E@lmnﬁéth miém :
Design single bit magnitude comparator. Draw truth table, K ,map diagram:
for the same. 4

Attempt any three of the i‘ollowing'

Implement full adder circuit using 8:1 MUX. R 4
Cascade Demultiplexer. Build 1:8 demux using <4 demux ¢
Y = A+ B + C. Realize using a multiplexer.
Draw logic circuit diagram of D flip flop ancbém
it. SN -
How SR flip-flop can be used to work mTﬂwﬂop? Exp\lgm.‘j f
How flip-flop is used in ehmmatmg keyboare debwmngm

Attempt any three of the follow:gg{x I
Design modulo 6 ripple counter.a N ‘.‘
Design 4 bit binary up/down

o controb it
Implement synchronous counter u%ng'K F 'F for staiedmm

Write a short,abfe b}ﬂ’fer regtistgr > 9‘
Explain wokag\ﬂthlPD Tegister, TR
Write a short note on Jéhnson%cnntet s

Page20f2
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Paper / Subject Code: 82304 / Discrete Mathematics. S EESI T

Fupsc-1t 8em-1

(2%: Hours)

N.B.: (1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary g‘fid ta :3‘ |
(3) Answers to the same question must be wrltteg tggetggg
(4) Numbers to the right indicate marks. R 4
(5) Draw neat labeled diagrams wherever necessary. S g
(6) Use of Non-pregrammable calculators 1531133_@ 0 3

Attempt any three of the following:
Define Universal Existential Statementh
examples of each.

Define Cartesian product. Let R dengtﬂ:hg set qrf allqeal numberstescribe R x R
Find the number of integers betwegﬁ i‘and 250 that are dwmble by 2 or 3"01: % or 7
Prove that (AU B) n (A n B)’ JLA =B)U((B~A) . S
Write the negation of each of the ;b iowmg(ﬂatements as snmpIy as possnble.

i. If she works, she wuke mo) " 8 :

ii. He swims if and only iﬁhe:,wa‘tcr is wérm S8 S oo

iii. If it snows, then Ihcy dbpotdr}ve ﬂie\caf = VAR

iv. John is 6 feet tall and he \ﬁélghs at least 120 Kg SR

v. The train was‘fate 6r Ampl"s wa’tch Was slcw TP F A

f. Def ine the followm TIPS S g I S I O IS

PJH

oo o

=

15

m

' §o S .S"}g)be“n<5andn¢3"'
and supp(;se the dorqﬂm of nis Z+, the set of positive integers. Use the = and <
. symbols r,o mdlcate tméjélatwnshxps among O(n), R(n), and S(n).

_b Dcﬁne ﬁecessdrw and suﬁ‘ ciem conditions and only if as applied to universal conditional
staternents. Rewmﬂ Ihe followmg statements as formal and informal quantified
conélmona] ‘statemer nts.: Q&hot use the word necessary or sufficient.

R o !S‘({uarenéss is asuff icignt condition for rectangularity.

Belhg at’ least 35 ycars old is a necessary condition for being President of

, _ thér United Stateg

- -A college cafe m@ :nqﬁas four statlons salads, main courses, desserts, and beverages.

3 ,The, salaﬁ Statioﬁ f em‘a*chmce of green salad or fruit salad; the main course station
> offers. spaghetti-or. f sh; »fﬁ@ dessert station offers pie or cake; and the beverage station
oﬁ"ers nifk;soda, orqoﬂ‘ee Three students, Uta, Tim, and Yuen, go through the line
and make the ﬁ)llowr:gg ‘choices:

P ¥ -green salad, spaghetti, pie, milk
Y + Tim: fruit sﬂﬂﬁsﬂ‘n pie, cake, milk, coffee
5 8 Y'uen spﬁghem “fish, pie, soda

.
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Paper / Subject Code: 82304 / Discrete Mathematics.

Write each of following statements informally and find its truthﬁ}f‘a.ldef' s
i. 3 an item / such that ¥ students S, S chose /. '

ii. 3 a student § such that ¥ items /7, S chose /. oy

iii. 3 a student S such that ¥ stations Z, 3 an item /in Zsuch“thatschﬂse o RSN

iv. V students S and V stations Z, 3 an item 7in 7 suchtbgj.ﬁ'chose] '_ NEQ AR

Define a prime number and composite number. Give symbolic definitions of the same ©
P p yabeie celinitions of the sam

Disprove the following by giving two counter eXarﬁpI__gs: NIEE S VIS
i.  Forall real numbers @ and b, if g < Z‘r‘a;héh_az-(ﬁ%.—vtc; Al
ii.  Forall integers n, if n is odd then (n < /)2 is.odd. =

e
o
~ e

iii.  Forall integers m and 7, if 2m + 1 is odd then audr‘rare}b‘bthodd BN

Define divisibility. Hence prove that for all integers 'c’z'_,._fb:wéihtidfc,"‘if‘a_, ]band af e ﬂm
al (6+c)andal (5- ). PP Iy S

Use the quotient-remainder theoremxmthd =360 prove that the product of any three
consecutive integers is divisible l_jy3"r3'.-*"Us_¢‘ the mod notation to rewrite the result

i.  Write the follofﬁf%éaga single summation:

3 Z(Zk = 3)4 ) (4 = 5k) 5
k=1 , %1 3 ? . SURS <
ii.  Write the following as a single product: -
n ..;3‘“ 3 W e l"'n". & A § >
Lle+ 1K WLilk T2
iii. _‘i-F‘,i_rjld‘_'l(d_!!)_.f{-f?’(}i!*)- +36D 4 -+ memi);m = 2
iv_ e %A " 3.‘ . \}.i, “ ; 7;. } ‘_“-“ L.,-.* ; R ‘ .

2 " o q: ) 2 .:* : \&_: 3 & k W &
R (s

rd,\{Eftﬁét“for,‘al'_l_zhgnnegative integers » and r with r + | <n,

s ()

o Provethat 72n ¢ (273)(8™) is divisible by 25 vn € N
- Determine the ‘sequence whose rectirrence relation is an = 4ay_; + 5a,_, with

Y owy
D .

S 8 e SO0 S = 2 and ay = 6
i Define G5 % Js <o Js % J, as follows: For all (a, b) € J5 x Js,
Ss e G@b) = ((2a + 1)mod 5,(3b — 2)mod 5)

s o Find: 6(4,4), G(2, 1), 6(3,2),6(1,5)

et F, be functions from the set of all real numbers to itself. Define the
‘Product funetions £°G: R — R and G- /* R — R as follows: For all x € R,

(F-G)(x) = F(x) -G(x)
S SR B G- F)x) = Gx) - F(x)
: : ,oesfif}' ,‘.‘__;‘,"; G - F? Explain.

e . Page 2 of 5
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Paper / Subject Code: 82304 / Discrete Mathematics.,

i.  Define Floor: R — Z by the formula Floor(x) = |x|, fm‘ alI real huﬂqu's
* Is Floor one-to-one? Prove or give a counterexample,

* IsFloor onto? Prove or give a counterexample.
ii.  LetS be the set of all strings of 0’s and |’ s, and g{éfﬂc
L § — Zromnes by

I(s) = the length of s, for all strings s in S.

* Is/one-to-one? Prove or give a counterexmple
* Is/onto? Prove or give a comterexample

LetX={a,c,b), Y= {x, 3, 2),and Z = (w, v,w} Deﬁne;ﬁcX*-*
the arrow d : 1 W, :

Find: g o £, (g 0 £)~,f 1
How (g o f)~1 amzh&h

Attempt any th
Draw the dlreé
AR ‘

e fi 15
hTﬁfpt%:Wfql?ﬁmng reiat.xons= \

| ﬁy 'f_# |

Rs the m&ﬂn or eQLtaHO“ reiatmn on the set of real numbers:
Foi*amx.\ywé ‘R, xRy &x>y
Diis the ‘?'e{iit _n«~d¢f‘med on R as foHows
Shy

"R & {a; b) R (c, d) & eithera <corbotha = cand b < d.
@ parti mﬁgﬂaéfanbn‘? Ijrove or give a counterexample.
‘t\ &q‘m shown: below 1s @a map with countries labeled a-g. Is it possible

m;]y three colors so that no two adjacent countries have the same
; WH, sr%ﬁs}%r thl& guqnlon draw and analyze a graph in which each country is

RGN, S ﬁe{x ‘and two vertices are connected by an edge if, and only if, the
Sﬁa’l‘Eﬁcnmmbn border.
P h

)
-~

Page 3 of 5
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i
i -m-m..._w_..._.....a.,ﬁ-u.,.a‘.,...,,_ ‘‘‘‘‘‘‘

e L. Find the adjacency matrix of the f, llowmg graph Py ;;'f'__'i""- S

Y
vy

3 o g gl =S

f
& g ,s]xe\dges ;_4‘:‘-:‘_ -3.‘ S8 \
ii.  Tree, six vq‘mces total degree 14 LS S
iii.  Tree, five: \(éﬁmeg total degree g
iv. Graph,icnmlé&tea, SiX vertices, five edges, hasa nontrivial circuit
V. Gra Wmc@’s, ‘one edge not afree ~ S
5. N
a.

‘L\IS ot A'to C by way of B?

GiSs ,{oundqﬁ:ip p,\/\b
s unﬁ-tnp hy us fmm A'to C“ by way of B if he does not want to use a bus Jine

o ’Hﬁwmany wﬁys can three of the letters of the worg ALGORITHM be selected
and Wnﬁaﬁm arow?

qu\mqy\wygcm Six of the letters of the word ALGORITHM be selected
and written i) ‘arow if the first letter must be A2
H@w’“\ iy a}?‘msan the letters of the word ALGORITHM be arranged in a row
if the Tetters G OR‘must remain together (in order) as a unit?

Page 4 of 5
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i iii.

' iii.

ii.

iil.

ii.

3 A bakery produces six different:
i are at least 20 pastries of eac@]}sh(i. \ﬁ,.\ﬁ_ 5
| ii.

Paper / Subject Code: 82304 / Discrete Mathematics.

If 4 cards are selected from a standard 52-card deck, must
same suit? Why? ¥ ‘
If 5 cards are selected from a standard 52-card deok must aﬂemt 2 be of the
same suit? Why? : ,
A small town has only 500 residents. Must there
same birthday? Why?

when divided by 3? Why? :
Given any set of three integers, must thare be‘iwo thqthé?&tti‘&ﬁ me:
when divided by 3? Why? PR F
How many distinguishable ways catﬁhe mterS“ of th\exwgir
arranged in order? A r«"“'"‘ o o

How many distinguishable ordtmi;gs‘\uf the' {etta;'sﬁvl}ﬂﬂ LABAI
with U and end with L? 1,_{‘.’5 S e

the two letters HU next ti

How many dlffere o
ﬂgffﬁtﬁle:vtst three must

How many differ
be eclairs? (:V o o oF & 94
. dﬂmﬁwkmm of twenty ,pﬁsi’rm*s conta;fn i mmst two eclairs?

f. A drug-screening tes Tgtﬁaéd ina large;&;gmlaﬁmo people Qf’ wfhohl 4% actual]y use
drugs. Suppose that;ﬂn@‘f&lsc' po&twe rate’ @3%&1&@ the false neganve rate is 2%. Thus

a person who uses:

s tests positive forthem 98% of the txmc -and a person who does

not use drugs feﬁ&m@hw for them 97% of the fime.*

i

ii.

Wl:ﬁ{-ts ﬂ@‘gﬁbabﬂfty thai ‘Mndcnﬂy ‘chOSen pezson who tests positive for

v Qas:ﬁ gs?
tis tk p@%&a‘ﬁ;ﬁ% that ‘a:r%h&btn]y‘bhosen“person who tests negative for
does not use drugs? :

Page 50of 5
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N. B.: (1) All questions are compulsory.

MO A0 TEN meR0 TR -
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a,
S
d
e

f.

¢ '-Attempt
- What isimeant by the stofage class ofa variable‘7
“-erte 3 short nute nLGIabal V@flabje“

Paper / Subject Code: 82301 / Imperative Programming ;
Fugsert  Sen-T

(22 Hours)

(2) Make suitable assumptions wherever necessary and ;g;g th‘e agggmp g”"g
(3) Answers to the same fuestion must be written togegherz S

(4) Numbers to the right indicate marks.

(5) Draw neat labeled diagrams wherever necessag,;
(6) Use of Non-programmable calculators is alloWeg

Attempt any three of the following: g
Explain the different types of programming language > %
Explain the different steps in the program develﬁpment cyole SRR
Draw the flowchart and pseudo code of program tl'iat doubles a number
Describe the structure of a C program. S U OV O :

What are the various data types in C?ﬁxplam them
What is a statement in C? Explam the';d

Attempt any three of the follgﬁ;ﬁg oo S 15
Write a program in C to swag‘twbchu,mbers w:thout usmg ' h1rd vahgble.

Describe the five arithmeti¢ ”(’)pegétol‘smﬂ \

Explain the conditional opeﬁaf@f' m(f' : >
Explain the getchar and:putchar- funchoﬂs used in C pmg]‘ammmg Janguage
Write a short note omgbanf*functmn._; ﬂ L 25 ;

Attempt any tn‘ree of the fullowing\
Explain if-else’ statément with an. example : '

Write a program in Ctofind the sum'of' squares ‘of dlgltS,EOf a number
What s the difference between while: and do~whi\let lpop in C?
Explain ihe funétlﬁﬂ wﬁh an exam B S

Write a: progt‘am in Cto find the factorial’ of a number USl[lg recursion.
Explam cal} by. valuwand.-dall by’ reference

15

ny three:

-}

‘the fbllowmg._ 15

Writea prggrahg 111 G- ‘to calculate ‘Suét:este Fibonacci numbers.

. What are’ prépfoceﬁqp directives m:C‘? Explam #include and #define in C.

e -Wnte a progratn. in C tb arranga'the " numbers stored in the array in ascending
..Order) st 4 3

,AWhat isa tw dimansmnal array'? How can they be declared and initialized in C?

-Attempt; ny three of ’the folluwmg 15
- “Explain the term pomters with an example.
- Write a- Cpr()grarﬁ to perform addition of two pointer variable.
" Write a shott'notéon Jpointer arithmetic.
NG Dlﬁ‘erentlatexbeMeen structure and union.
. What is'an array,wrlthm the structure and array of structure?
Yo Explam nested Structure in C with an example.

sk o ok ok ok ok ok ok ok ok s ok ok ok
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Paper / Subject Code: 82305 / Communication Skills.

. FELT Sem I
(22 Hours)
N. B.: (1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary and state-t
(3) Answers to the same question must be written togethgg
(4) Numbers to the right indicate marks. ,« N ;-:‘5
(5) Draw neat labeled diagrams wherever hecessary. . .
(6) Use of Non-programmable calculators is allowgg

Attempt any three of the following:

Discuss the seven Cs of effective communication,
What is conferencmg? Explain different types of conferﬁncmg{ &3 AN,
Explain the stages in developing relationships ttwosghinterpemmal cbmmurﬁcaPOne~ ISR
Discuss Dysfluency and Tempo/Pacmg, the sub- camgorieséﬁpwaIMgmge $< g .
What is the role of proxemics in non-verbal eommtqucatxt’m” g:‘xg}am, Py ey
Distinguish between the attributes of hlgh contexg and h;aw contéxt cul(ur ‘s.x s

'\_:‘
Q)

MmO Ao op e

Attempt any three of the following: 15
Explain the five main stages of wrﬂ‘ig»busmess mess&ges ' 5 e S

Discuss the different strategies ﬁ)l@\mtmg’ﬂle body of a lmsmeés%tter e

What are different types of audience?? Drscgss the factm's reqdived foraudwncc analyms
State and explain the steps i in w'ntmg aroutine busmeSS FOPOIL. & > T N as

List and explain the ten rqéume Hﬂstakés that must be avmdéd* AN

Explain the different bamérs thﬁkcreate 1iste11mg bamers

meas e N

Attempt any thre ‘dfﬂlw“ ' g

a. What are the purpbspsof a confcrmce? Explhin the dlfferenf ponﬁts 1o be considered for
effectively co dﬁaﬂnﬁa cpnferencc

b.  Enumerate the ﬁitﬁt«mt mps mvolved Jin-a Group DISCUSSIOI‘I Discuss the critical

success factaji-‘m a gri}up discussion.” "5

What is tc‘am riefing ?How can it be’ made eﬁ'ec’hve‘? S

What is markbnng Qémnmmcaﬁon? How d0es it work? >

Statfrand gx@}ainﬁig activities ihvolved. dn brandmg a:project.

What IS cial"‘qo : mumtatmn? Whgt are lts constituents? Explain.

o

ho ae

thﬁpa p three of the fnllowmg. 3¢ | 15
>, "m‘feacttlgenﬂhlp and social requnmblllty’? How does CSR fit with PR?
”-_j':‘\,_HGW\Oh;fad,_,_ msmeqts l:ge planned: for bétter results?
e What EIIE'\ ﬁe;'em‘-appmaches to. ef?fectwe negotiation? Explain the six steps of
wﬂegotla’tmns i :

Expka{n éﬁlﬁ‘e:ent etiucai herapectwes in communication.
" e plalr; -Bf grammar tﬁat would be helpful in business communication.

131 -.{- ’fmﬂ@n&gerfbmmd by comma.

ﬁ_c‘m:h

_'»Aftlﬁhpt w&gg”bﬁhe ollowing: 15
&What is mmﬂwmap” How vi§ it useful in presentations? Explain. What should be included
) m lhg comlumon of:a presentation?
: pfesentation@e made more effective?
Dl&c‘uss the success factors in business presentation.
Mafare the different type of graphics used in presentatlons'? Explain.
- Why use of font,-colour and layout is important in the impress stage of presentation?
N '\Eggpla:fnéancépt map with an example.
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